
 

  ا����د�ت
  


���
  :�� ا����د�ت ا������  :1 ا�
1) x 2 10+ =  

2) x 2 10− =  

3) 6 x 12+ = −  

4) 12 x 48− + =  

5) x 5 0+ =  

6) y 17 0− =  

7) 33 x 45= −  

8) 54 x 23− = −  

9) 12 x 13− = −  

10) 4 x 2− = − +  

11) 6 6 x= +  

12) x 5 12 8− + = −  

13) x 1,2 5,6+ = −  

14) − =
3 1

x
4 2

 

  

���
 :ا����د�ت ا��������  :2 ا�

1) 2 x 8⋅ =  

2) 5 x 55⋅ =  

3) × =x 7 42  

4) 156 13 x= ⋅  

5) 6x 9=  

6) 7y 385=  

7) 35 5x− =  

8) 16x 256=  

9) 45x 135=  

10) 540 90x=  

11) 5x 0=  

12) 6x 6=  

13) 24x 36=  

14) 3x 18− =  

15) 72 54x=  

 


���
 :�� ا����د�ت ا������  :3 ا�

1) 3x 2 14+ =  

2) 2x 5 23− =  

3) 5 4x 25+ =  

4) 43 2x 13= +  

5) 6x 12 0− =  

6) 2x 6 12− =  

7) 3x 14 59+ =  

8) 2x 5 0− =  

9) 3x 5 19− + = −  

10) 7x 9 23+ =  

11) 42 6x 36= −  

12) 11x 55 66+ =  

13) 3x 6,3 18,6+ =  

14) 
1 1

2x
4 2

+ =  

 


���
 :�� ا����د�ت ا������ :4 ا�

1) x 18 20+ =  

2) x 72 38− =  

3) 65 21 x= +  

4) 42 x 0− + =  

5) 51 x 28− = −  

6) 38 x 53= +  

7) 72 72 x− = − +  

8) x 75 48 29− + = − +  

9) y 1,2 0,3 4,5+ − = −  

 


���
 :�� ا����د�ت ا������ :5 ا�

1) 4x 20=  

2) 7y 42=  

3) 8m 32− = −  

4) 3t 15,6− =  

5) 6 2x 4 12− + − =  

6) 4,3 5 3a 0,6= − + −  

7) 6 2m 5 7,8− + = −  

8) 9x 8 2x 21− = − +  

9) ( ) ( )3 x 5 5 x 7− = +  

 


���
 :�� ا����د�ت ا������ :6 ا�

1) 8 2x 14+ =  

2) 4,2 2t 3,8+ = −  

3) 0,8 7 5x= − −  

4) 5y 12 8− + = −  

5) 6a 12 0+ =  

6) 5x 0,9 0,7+ = −  

7) 3x 1,2 1 0,2− + − = +  

8) ( )2,2x 6,6 2,2 x 2− − = −  

9) ( )4 2x 3,5 21− − =  

 


���
 :�� ا����د�ت ا������ :7 ا�

1) ( )12 4x 7 41− + − = −  

2) ( )x 3x 5 21− + =  

3) ( ) ( )x 4 26 5x 8− − + + + =  

4) ( ) ( )2,5x 6,2 4,3 10x 2− + = − + −  

��ن أآ���ط  



 

 


���
 :�� ا����د�ت ا������ :8 ا�

1) ( ) ( )3 x 1 4 2x 3+ = − −  

2) ( )x 3 x 2 3+ − =  

3) ( ) ( ) ( )x 3 7 4x 5x 2 x 1− + − − = + +  

4) ( )x 3 x 2 3+ − =  

5) ( ) ( ) ( )5 x 3 2x 1 5 x 1− + + − = + − +  

6) ( ) ( )2x 4 x 2 x 3 x 2− − = + − −  

 


���
�   :9 ا����
د ا��
د ا��x ا� �� ����د�ت ا�����:  
 

 


���
 ,و �12�ن دره�� و ./.� أو�د 560000$�ت ر�� و (�ك $'&%� $# ا���ل !
ر�  :10 ا�

    ".�&>آ� �9$ ���; ا:���9# :"�&�� أن ا�5��
ة ا�����6 (�5ل 42ن   
  $� ه� ���; آ� و�
 و آ� 12<؟   

  


���

 �# ��A@ ب  :11 ا�BCB @��D إذا �&�< أن �F6ا� ��G�H$ �5� ���H$820  @G�� .$�� 7000$�� وأن $

  


���
�� D'���� $������ ه�  :12 ا���L اد
  . ��N$384ع ./.� أ�
  $� هQ ه>� ا:�
اد ؟    
  


���
 .  ABC ه�! Q�W�ت زواB� �TU ا��3x S&9و  2xو  x 2���'�ر ا��F6 ���'@،  :13 ا�


د  .1�x . 

2.  S&9ا�� �Bت زوا�W��! د
�ABC.  
  

    
  
  

  

���

	���، ��د  :14 ا� ��
��	وي ا��	���،  ��ABC��ن ا�����  ��x ا�� 

  ه� ا�)��'$ �&%��$؟ #�� 
�ا"!؟
  
  
  
  
  

  
    

  
  

  

1) x 9 0+ =  

2) 
x

2
6

=  

3) 2x 4 0− =  

4) 6 x 10− =  

5) 
40

2
x

=  

6) 48 : x 12− = −  

7) 5x 3 18− = −  

8) 3x 15 30+ =  

9) 
x

1 1
4

− =  

10) 
x

1,5
8

=  

11) 
2x

24
3

=  

12) 2x 9 0− =  

13) 5x 5x 1− =  

14) 3x 4x x= −  

15) 
9 x

x 4
=  

��ن أآ���ط




